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Chapter 1, Solution 1

(a) q=6.482x10"" x [-1.602x10™*° C] = -103.84 mC
(b) g = 1. 24x10" x [-1.602x10™*° C] = -198.65 mC
(c) q = 2.46x10" x [-1.602x10°C] =-3.941 C

(d) g = 1.628x10%° x [-1.602x10™° C] = —26.08 C



Chapter 1, Solution 2

(@) i=dg/dt=3mA

(b) i=dg/dt=(16t+4)A

(c) i=dg/dt = (-3¢ + 10e™") nA

(d) i=dg/dt = 12007 cos120t pA

(e) i=dg/dt = —e™*"(80cos50t +10005sin50t) xA



Chapter 1, Solution 3

@) q(t) = j i(dt+q(0) = (3t +1) C
(b) q(t) = j (2t +s)dt +q(v) = (t> +5t) mC
(c) q(t):IZO cos (10t+7/6)+q(0) = (2sin(10t + 7 /6) +1) uC

30t s 10e™** :
qt) = IlOe sin40t + q(0) = 00 (—30sin 40t - 40 cos t)

900+16
=—¢e7"(0.16c0s40 t + 0.12 sin 40t) C

(d)




Chapter 1, Solution 4

q=it =7.4x20 =148 C



Chapter 1, Solution 5

10 2
. 1. . 710
= [idt=[Ztdt=—| =25
a=] !2 400



Chapter 1, Solution 6

(@) Att=1ms, i:?j—?:?’?o: 15A
(b) Att = 6ms, i:d—q:O_
dt
(c) Att = 10ms, i:i-?:‘%“: 75A



Chapter 1, Solution 7

25A, O<t<?2
i:(:i_?: -25A, 2<t<6
25A, 6<t<8

which is sketched below:
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Chapter 1, Solution 8

10x1

q=[idt= +10x1=15pC



Chapter 1, Solution 9
(2) q = it :LllOdt ~10C

3. 5x1

=15+7.5+5=22.5C

© q =fidt=10+10+10=3oc



Chapter 1, Solution 10

q = it = 10x10°x15x10° = 150 mC



Chapter 1, Solution 11

g= it =90 x10° x 12 x 60 x 60 = 3.888 kC

E=pt=ivt=qv=3888x1.5=5.832 kJ



Chapter 1, Solution 12

For 0 <t < 6s, assuming q(0) =0,

t t
q(t) =J'idt+q(0) :j 3tdt +0 = 1.5t2
0 0

At t=6, q(6) = 1.5(6)* = 54
For 6 <t < 10s,

t t
q(t) =jidt+q(6) :j 18dt +54 = 18t — 54
6 6

At t=10, q(10) = 180 — 54 = 126
For 10<t<15s,

t t
q(t) = j idt +q(10) =j (~12)dt + 126 = —12t + 246
10 10

At t=15, q(15) = -12x15 + 246 = 66
For 15<t<20s,

t
q(t) = IOdt +q(15) =66
15

Thus,

15t> C, 0 <t < 6s
() = 18t-54 C, 6 <t < 10s
~12t+246 C, 10 < t < 15s
66 C, 15 <t <20s

The plot of the charge is shown below.
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Chapter 1, Solution 13
(a) i1=[dg/dt] = 20mcos(4nt) mA
p = Vi = 60mcos’(4nt) mW

At t=0.3s,
p = Vi = 60ncos*(4n0.3) mW = 123.37 mW

(b) W= *-PQ‘F = G *‘&51503:5 f4mthit = 30T *‘&i['l + cos{Bmtidt

W = 30x[0.6+(1/(87))[sin(870.6)-sin(0)]] = 58.76 mJ



Chapter 1, Solution 14
(2) q=idt=[0.02(1-e"* kit =0.02(t+2e"* ) =0.02(1+2e°° -2)=4.261mC

(b)  p(t) =v)i(t)
p(1) = 10c0s(2)x0.02(1-e %) = (-4.161)(0.007869)

=-32.74 mW



Chapter 1, Solution 15

2

(e 2 oy, —0.006
) q_J.ldt_J'0 0.006e dt_Te

(

0
=-0.003(e* ~1)=
2,945 mC

(b) v= %?I =-0.012e(10) =-0.12e™ V this leads to p(t) = v(t)i(t) =

(-0.127)(0.006e") = =720 pW

3
(c) w= jpdt = -0.72'[03e'4t dt = i?e-4t106 =-180 pJ

- 0



Chapter 1, Solution 16

()
. 30t mA, 0<t<2
i(t)= {

120-30t mA, 2<t<4

5V, 0<t<2
v(t) =
5V, 2<t<4

1) = 150t mW, 0<t<2
P=1 600+150t mw, 2 < t<4

which is sketched below.
p{mw)

300

v

-300

(b) From the graph of p,
4
W = '[ pdt=0J
0

t (s)



Chapter 1, Solution 17

2 p=0 —-205+60+45+30+p; =0
ps=205-135=70 W

Thus element 3 receives 70 W.
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Chapter 1, Solution 18

p1 = 30(-10) = -300 W
p2 = 10(10) = 100 W
ps = 20(14) = 280 W
Pa=8(-4) =-32 W

Ps = 12(-4) = -48 W
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